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You do not need any extra paper, write down all your answers right here ! Use the back page if necessary.

1. Why should we learn about ICT (10 points): \We kwow that TCT repess 0 the \m‘:or\matfom,
Comvnunication cnd Ted/mo(,ogy It is a set of resources and techno logi cal
eﬁ,w?m%f to Comwunicate, ereate toolc  and mmi«je M—fm“mﬁ*"m' Some
%eﬁlﬂ“"t@@}’ éuipments here are Computer, te[e{;(qome, nternet, rado, etc .
And we chould learn about TCT because howadays  is tec'hnotogy era where
each persev must know the faat,,f\wj ¥ ted/wu.Lo?Y VY ST c:r}>ec~ate it .
Pesides, 1ct ¢ very (,lSef:u(, W every J:;e(& For example i educat onal f‘el&.
We Com uge ICT to wake the {wcw@ mweq lea)rvuv\lﬂ procecs  wore effective and
Efficient , Lke the students com get wore wnpormaton  abovt the legsm
Searc‘/u‘mj in the nternet and tedchers can Use Hais Facilily (like computer)
£ A media t teach and that meda s very helppul For them. Therefore,

we chould learn abovt TCT becavse & is veyy (W\’vrrimmé and  yery neede&
n our ziaity octivity

» 3. List 6 (six) examples of the teaching format (5 points):

Talk and chalk Cudy  Cicele Drill Practice
Master and Apprentice Speech = Presentedion Test - Exaw
4. List 6 (six) aspects to support the teaching skills (5 points):
Experience Knowledqge Technigue
Talent Stule Tools

5. In one of your group assigments, your group has made a visit to an ICT facility for education (70
points):

(a) Name the ICT facility your group has visited: Computer Labocatory in SMK Nur Karya Tidung
(b) List 2 (two) examples of hardware, software and humanware aspects at the ICT Ffacility:

hardware aspects software aspects Humanware aspects
Mouse Operating <yctew and Program | Computer DPWOP
Keyboard Mocdle Computer engineer

6. Your group has interviewed a practicing teacher to make an assessment on her/his mastery in ICT
and how he/she uses the ICT to support his/her job (70 points):

(a) The teacher's name: Rahmat . § P place of work: SMK_Nur _Karys Tidung
(b) His/her mastery of ICT is (circle only one answen): ! 7

* Extra Ordinary * Not Quite Good
(c) Explanation of 6(b): Based s the observation , his mastery 65 ICT is gooo(

he gave good explanction mnd wnice interackion 4o the students <o the
Can  Cateh  the Pm’v\’r or got e (”F‘“‘ mebion 0 explanaton  cleart From
him . But, umwﬂ:uma{el‘?{ at there i lese of Faclity Like Computer, which
H can wnpluence the teaabu‘v\f) Gn P \e,arm‘mj process Funming S(OUU,\)',
However, he tried +v do the bect. & b otk e '
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7. A society where the majority of its population earn their living as information workers is called an
|V1'FO‘Y‘mati'Oﬂ society (5 points). What do Information workers do for living? (70

points) Answer. They preducing processing Ai‘rtﬁbuﬁv\xﬁ, Wgormedion  and
producing the information  techwology .

Examples of information workers are (give three more): Teachers, Lecturers , SGCPQJCCI@ "
Wmantger . researchers , academicioms , writers and  reportecs .

8. There are 3 (three) levels of Information Systems, from the lowest to the highest (70 points):

1. Meawnual - based Information Systems
2. Computer - based Information Systems, and
3. Network - based Information Systems

8. What mode of communication did Shannon and Weaver's model of communication

originally represent? Answer: Stmptex modle. 2 (two) other modes of
communication derived from the same model are: (a) _Full - Duplex
and (b) Hatp - Duplex (10 points)

9. The smallest unit of information is } BIT  stands for (an abrreviation of)
Bwary Pt ? (5 points)

10.  Create 16 (sixteen) different “4-bit binary codes” to identify 16 different persons (70
points):

A: 0000 E: O | OO I 1600 M: 1100
B: 000 | F: Ol O\ J 100l N: 1101
CQOIOD G Ot B K: lo o o: 1110
D:00 11 H: 0Lt L: 10 11 P:1111

11. Write down your answers below, or use the back page if necessary:

(a) If each letter or character is coded into a 10 bit binary code of information, every word is made
up from 5 letters in average, and the content of every page is about 500 words in average, how
many bits of information are there contained in a 250-page book? (5 point).

(b) How many books about the same size as described in 11(a) can fill up an 8 GB Flash Disk? (Note: 1
B(yte) = 10 b(its), so 8 GB = 80 Gb)(5 point).

Answer.

11.(@ 1 word =5 letters > 250 pages x soo wovels 125 coo words

\)

i ‘L)itt:f jlo bits 12§ . 000 words X & Letters ¢as. oo Letters
'J 2500 werds €25. 000 letterr x (0 bits = €.25D- 000 bitc
50, @ 260 - pages, there are (.26 000 bits oy lnpormation
(b) ¢250.000 bitc / |000 6.250 Kb

6.-250 Kb / joco 6.25 Mb

.25 Mb / joco 0.00¢25 Gb yor 1 book

Bo &b /06.00625 Gb =12 800 books
So, there are B_;;fﬁ books  can Fill up an 8 GB Flch Disk .
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